[ Efficiency vs vertpos |

~0.02

o18f- --------------------------------------
T S e
014f LAl SUICTEUTRIE SRS
.012F | --------------------------------------
0.00 - 4-Jif e LA SRt
008F || frif -} USRS -
750 4 8 1 S
004f- & 0 B4 O AR S
002E- A 0 SR O O SO
10 0 A 01 O SO
OA95:

Efficiend

~ 0.0

0.
0.
0.
0.
0.001

Ratio

EHHCIRRCY S 8T

1072 107

—=— DQM_VUUUI_ROU0U00000UT__Global__T =
—e— DQM_V0001_R000000001__Global__CMSSW_X Y_Z

1 10 0?
TP vertr (cr%)

CMSSW_X_Y_Z__allNODNNZ
all2

—— DQM_V0001_R000000001_Global__CMSSW_X"_Y_Z all75
—— DOQM_V0001 _R000000001 _Global CMSSW_X Y Z all7

009
008
007
006
005
004
003
002

.......................

Vs

[y

0.95!

[ Efficiency vs. sim PV

~ 0.05

0 10 20 30
TP vert z (cm)

>
50.045

£

=0.04
%.035
ey
20.03
@
8.025
(]
0.02
0.015

0.0

0.005

Ratio

...................

............................

...............................................

&
b

-

-

.............................................

1.0

A
"

o

s
a -
o

5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


